LinearEquations in Two Variables

Exercise 8A

Cueastion 1:

(i} The giveneguationisx=5

Take two solutions of the givenequation asx=5,y=1andx=5y=-1
Thus we get the following table:;

hu

1

Plot points P{5,1) and Q(5,-1) on the graph paper.
Join PQ. The line PQ is the reguired graph.
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{ii) The given equationisy = -2
Take two solutions of the given equationasx=1,y=-2andx=2,y=-2
Thus we have the following table:

% 1 £

y -2 -2

Plot points P{1,-2) and Q{2 -2} on the graph paper. Join PQ. The line PQ is the required
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(iii) The given equationis
x+&=0
=) =-&
Letx=-6&y=1
x=-6&y=-1
% - -

¥ 1 =1

Plot points P{-6,1) and O{-&,-1} on the graph paper. Join PQ. The line PQ is the required
graph.
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{iv) The given equationis
x+7=0
=x=-7
Letx=-7,y=2andx=-7,y=1

Thus we have the following table:

x

2 1

Plot points P{-7,2] and Q{-7.1} on the graph paper. Join PQ. The line PQ is the required
graph.
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{v) v = O represents the x-axis
tvi) x =0 represents the y-axis,

Question 2:

The given equation isy = 3x
Puttingx=1,y=3(1)=3
Putdingx=2,y=3(2 =6

Thus, we have the following table:

1 2

&

Plot points (1,3} and {2,6} on a graph paper and join them to get the required graph
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Takea point P on the left of y-axis such that the distance of peint P from the y-axisis 2
units.

Draw PQ parallel to y-axis cutting the line y = 3xat Q. Draw QN parallel to x-axis
meeting y-axs at N.

So,y=0N=-6.

Question 3:

The given equation is,
x+2y-3=0

=x=3-2y
Puttingy=1x=3-{2x1}=1
Puttingy=0,x=3-{2x0})=3
Thus, we have the following table:
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Plot points (1,1} and {3,0} on a graph paper and join them to get the required graph
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Take apoint Q on x-axis suchthat OQ = 5.

Draw QP parallel to y-axis meeting the line fx =3 -2y} at P.
Through P, draw PM parallel to x-axis cutting y-axis at M.
So.y=0M=-1

Question 4:

(i) The given equationisy =x
Letx=1,theny=land letx=2 theny=2
Thus, we have the following table:

4

¥ 1 2

Plot points (1,1} and {2,2} on a graph paper and join them to get the required graph
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(i} The given equationisy =x
Now, ifx=Ly=-landifx=2,y=-2
Thus, we have the following table:

% 1 2

-1 |2

Plot points (1,-1) and (2,-2) on a graph paper and join them to get the required graph.
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(i) The given equationis y + 3x=0
=Sy =-3x
Mow, ifx=-1,theny=-3{-1=3
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And, ifx=1,theny=-3{1}=-3
Thus we have the following table:
T

;)

Plot points (1,-3) and (-1.3) on 2 graph paper andjoin them to get the required graph.

N
O P

(v} The given equationis 2x+3y=0
-7
=y=3 x
Now, if x =3, then
-3
y= 3 x3=-2
And, if x=-3, then
—3
y= 3 x(-3)=2
Thus, we have the following table

;)

Plot points (3,-2) and (-3,2) on 2 graph paper and join them to get the required graph,
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{v) The given eguation is 3x - 2y =0
3

=y=0x
MNow, ifx=2,
3
y=2x2=3
And, if x=-2,
3
y=2x{-2)=-3
Thus, we have the following table:

X% £ ~ &

v |3 |3

Plot points (2,3) and {-2,-3) on 2 graph paper and join them to get the required graph.
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{vi) The given equationis 2x+y=0
=y =-2%

Now, ifx=1theny=-21=-2
And, ifx=-1,theny=-2{-1)=2
Thus, we have the following table:

X 1

W

Plot points (1,-2) and {(-1.2) on a graph paper and join them to get the required graph.
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CQuestion 5:
The given equation is, 2x— 3y =5
2r—5
=y=
Now, ifx =4, then
s 48 85
y=2T =
And, ifx=-2, then
o H2)B 46 B
== 3 =8 =F= -3

Thus, we have the following table:

|4 -2

R E

Plot paints (4,1} and {-2,-3) on a graph paper and join them to get the required graph.
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(i} When x = 4, draw a Iine parallel to y-axis at a distance of 4 units from y-axis to its right
cutting the line at Q and through Q draw a line parallel tox-axis cutting y-axis which is
found to be at a distance of 1 unfts above x-axis.

Thus,y=1whenx =4,

(i) Wheny = 3, draw a line parallel to x-axis at a distance of 3 units from x-axis and above
it, cutting the line at point P. Through P, draw a line parallel to y-axis meeting x-axis at a
point which is found be 7 units to the right of v axis.

Thus, wheny=3,x=7.

Cuestion &:

The given equationis 2x+y =4
2y=6-2%

Now, ifx=1,theny=6-2(1)=4
And,ifx=2,theny=6-2{2)=2
Thus, we have the following table:

X 1 2

Plot points (14} and {2,2) on a graph paper and join them to get the required graph.
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We find that the line cuts the x-axis at a point Pwhich Is at a distance of 3 units to the
right of y-axis.
So, the co-ordinates of P are (3.0).

Question 7:
The given equation is 3x+2y=§&
=2y=6-3x
G—3r
=y= 2
Now, ifx =2, then
6—3(2) :
g =
And, if x=4,then
G—3{4) 6

Thus, we have the fallowing table;

® ! g

¥ [#] it

Plot points (2, 0) ard {4,-3} on a graph paper and join them to get the required graph.
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We find that the line 3x+ 2y = 6 auts the v-axis at a point P which is 3 units above the x-
axis.
So, co-ordinates of Pare (0,3).
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